
Introduction to 
Multiplication

Think about adding equal groups as you fill in the gaps and solve these 

problems.

1 Use the image below to help you complete the multiplication 
sentence.

There are equal groups of ladybirds.

This means there are ladybirds in total.

2 3 + 3 + 3 + 3 = 3 × 4 =

3 + + + + + = 2 × 6 = 12

4 7 + 7 + 7 = =

5 5 + 5 + 5 + 5 + 5 = =
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Introduction to 
Multiplication Answers

1 Use the image below to help you complete the multiplication 
sentence.

There are five equal groups of two ladybirds.

This means there are ten ladybirds in total.

2 3 + 3 + 3 + 3 = 3 × 4 = 12

3 2 + 2 + 2 + 2 + 2 + 2 = 2 × 6 = 12

4 7 + 7 + 7 = 7 × 3 = 21

5 5 + 5 + 5 + 5 + 5 = 5 × 5 = 25
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